
 

 

 

 

 

 

 

myF : -  Rl;bfs; 
 

ghlNtisfspd; vz;zpf;if  :  4  

 

 

 

 

 

 

     

 

 

Rl;b tbtpy; fhl;Lf. 

ngUf;fk; Rl;b tbtk; thrpf;Fk; Kiw 

3 x 3 x 3 x 3 34 %d;wpd; ehd;fhk; tY 

2 x 2 x 2 x 2 x 2   

6 x 6    

9 x 9 x 9   

4 x 4 x 4 x 4 x 4 x 4   

7 x 7 x 7 x 7   

 

tY xd;wpd; ngWkhdj;ijf; fhzy;.     

 cjhuzk; : - 1)  24  ,d; ngWkhdj;ijf; fhz;f.   

                 24 = 2 x 2 x 2 x 2   

                      =    4    x 2 x 2 

                 =     8   x 2 

                 = 16 

 

khfhzf; fy;tpj; jpizf;fsk;> rgufKt – thuhe;jg; ghlrhiy 

ghlk;   : fzpjk; 

juk; : 6 

jahupj;jy; : jpU ]puh[; - tsthsu; (fzpjk;)>     
                    khtdy;iy tyak; 

thuk; : 7 

xU vz;iz mNj vz;zhy; kPs; ngUf;fk; nra;Ak; NghJ mjidr; RUf;fkhf 
vOJk; Kiw> Rl;bf; Fwpg;gPl;by; gad;gLj;jp vOJk; Kiw vdg;gLk;. 

cjhuzk; : - 5 x 5 x 5 = 53 

34 

tY 

mb 

Rl;b 



 

 

 

 

 

 ghlg;Gj;jfj;jpy; 164, 165  Mk; gf;fq;fspYs;s gapw;rp 24.1 iag; G+uzg;gLj;Jf. 

ahNjDnkhU vz;izj; jug;gl;l vz;zpd; tYthf vOJjy;. 

cjhuzk; :- 01      cjhuzk; :- 02 

16 vd;w vz;iz 2 ,d; tYthf 125 vd;w vz;iz 5 ,d; tYthf 

        2  16 16 = 2 x 2 x 2 x 2 = 24          5 125     125 = 5 x 5 x 5 = 53 

        2   8                        5 25 

        2  4             5  5 

        2  2              1 

 1        

 ghlg;Gj;jfj;jpy; 166, 167  Mk; gf;fq;fspYs;s gapw;rp 24.2 iag; G+uzg;gLj;Jf. 

 ePu; ,g;ghlj;jpy; ngw;Wf;nfhz;l mDgtq;fspD}lhf ,ilntspfis epug;Gf.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 ghlg;Gj;jfj;jpy; 167, 168  Mk; gf;fq;fspYs;s gytpdg; gapw;rpiar; nra;f.  

cjhuzk; : -    2)  23 x 32    ,d; ngWkhdj;ijf; fhz;f.   

   23 x 32    =   2 x 2 x 2 x 3 x 3 

        =     4   x 2 x 3 x 3 

       =        8    x 3 x 3 

       =            24   x 3 

             =              72 

 

72 
÷2 

x4 

÷9 


